

Sec 5.3

Solving by Elimination

ADD OR SUBTRACT EQUATIONS TO ELIMINATE A VARIABLE

MULTIPLY ALL TERMS OF AN EQUATION BY A CONSTANT AND HAVE AN EQUIVALENT EQUATION.

$$\begin{array}{r}
 (+) \left\{ \begin{array}{l} -2x + 3y = 4 \\ 2x - y = -8 \end{array} \right. \\
 \hline
 \end{array}
 \quad
 \begin{array}{l}
 2x + 2 = -8 \\
 2x = -10 \\
 x = -5
 \end{array}$$

$$\begin{array}{l}
 2y = -4 \\
 y = -2
 \end{array}$$

$$(-5, -2)$$

$$\begin{array}{r}
 \left\{ \begin{array}{l} 2(-3x + 2y) = -2 \\ -6x - 5y = 2 \end{array} \right. (+) \\
 \hline
 \end{array}
 \quad
 \begin{array}{l}
 6x + 4y = -4 \\
 -6x - 5y = 2 \\
 \hline
 -y = -2 \\
 y = 2
 \end{array}$$

$$3x + 2(2) = -2$$

$$3x + 2(2) = -2$$

$$y = 2$$

$$3x + 4 = -2$$

$$3x = -6$$

$$x = -2$$

$$(-2, 2)$$

$$\begin{cases} 2(4x - 3y) = 8 \\ -3(5x - 2y) = -11 \end{cases}$$

$$8x - 6y = 16$$

$$\underline{-15x + 6y = 33}$$

$$-7x = 49$$

$$x = -7$$

$$5(-7) - 2y = -11$$

$$-35 - 2y = -11$$

$$-2y = 24$$

$$y = -12$$

$$(-7, -12)$$

$$\begin{cases} Ax + By = C \\ 3x - 30 = 4 \leftrightarrow 3x - y = 30 \\ 7y - 6 = 3x \leftrightarrow -3x + 7y = 6 \end{cases}$$

$$\underline{6y = 36}$$

$$y = 6$$

$$3x - 30 = 6$$

$$3x = 36$$

$$x = 12$$

$$(12, 6)$$